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MOCK TEST#01 

 

CREATIVE ABILITY SECTION 

Duration 45 minutes        Mm: 50 marks 
 
Q1. Illustrate any ONE of the following in black & white only: 
(a) A person with a shovel in action  (b) an adult person with a vehicle of your choice 

 (25 marks) 
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Q2. Illustrate any ONE of the given posters in black & white only, in the given frame: 
(a) Wild life preservation    (b) Awareness towards mental well being 

       (25 marks) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 



         

ACADEMY FOR FASHION CAREERS, Lucknow. www.afcfashion.in  
 

AFCMT/ 072K20/#01 

 

 academy for fashion careers   

MOCK TEST #01 

 

GENERAL ABILITY SECTION 

Duration 45 minutes        Mm: 50 marks 
 
SYNONYMS: 

 
Q1.   Cessation  

a) Prolongation    b)  Confirm  c)  Intermission   d) Pardon     e) None of these  

Q2. Embezzle  

a) Restitution  b) reimburse   c) Promote    d) Swindle e) None of these  

 
ANTONYMS: 

 
Q3.  Shabby  

a) Impaired    b) Miserable  c) Thriving     d) Coup    e) None of these  

Q4. Overbearing  

a) Humble     b)  Malevolent  c) Lethargy   d)  Domineering    e) None of these  

 
IDIOMS: 

 
Q5. Look a gift horse in the mouth : 

a) Active    b) Feed an animal  c) To reverse a condition d ) depressed  e) criticize a gift  

Q6. Queer fish : 

a) Strange person   b) Difficult task  c) Concise view    d) highly obsessed  e) Provoking  

 
 

 PARA-JUMBLES 

Q7. 

A) This is because of the effect of your mindset and attitude have on everything we come across.  

B) It is true that optimists, or positive thinker, are at an advantage in life compared to pessimists.  

C) The way we choose to think, positive or negative, has a great impact on the final outcome and is 

mirrored in everything we do. Hence the importance of having a balanced outlook on life.  

D) Our social relationships, our job and also our health are an integral part of our daily life and we can feel 

how negative and positive thoughts can have a domino effect on everything we do during the day.  

a) ACDB        b) BACD        c) DACB        d) BADC     e) None of these  

FILL IN THE BLANKS: 

Q8. While most of the ruins ______well-preserved, modern-day Bhangarh is only a shadow of a once prosperous city. 

a)  Are    b) Is    c) Becomes    d) Were   e) None of these  

Q9. Majuli – the world’s largest river island ______just disappear in the future.  

a) Could have        b) Could have had        c) Could      d) Might       e)  none of these  

Q10. Financial sector is the _________     of government’s economic revival plan. It needs fixing.  

a) Corrigendum  b) Asset   c) Fulcrum d)  Anchor   e) None of these.  

Q11. If there is an increase _______ this level, government as the primary shareholder in the banking system 

needs to think of ways to infuse more capital.  

a) To         b) From   c) Through   d) Upon   e) none of these  

Q12. If we get into the bit of thinking before acting, we may be able to ________  a response which 

determines the outcome.  
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a) crave              b)  carve              c) chose           d)  choose e) None of these  

ONE WORD SUBSTITUTION 

Q13. Somnambulist  

a) A person who talks in sleep   b) a person who walks in sleep  c) centre of attraction       

d) day dreamer     e) None of these.  

Q14. Philatelist  

a) One who collects stamps  b) Collector of books    c) one who hates knowledge  

d) Who does not believe in God.  e) None of these  

CLOZE TEST 

The new product can be used in natural reinforcements for composites in ___(15)_____ and sporting goods, 

plaster reinforcements in construction, burlap sacks for packaging, ropes, twines, non-wood papers and other 

consumer products. The fibre is cent per cent biodegradable and compostable and has a specific___(16)____  

strength five times higher than structural steel, and equal to those of flax, hemp and sisal. Its vibration damping 

and ____(17)______  insulation is higher than those of glass and carbon and thermal insulation higher than 

carbon. Moreover, it can be easily blended with other long fibres like flax, sisal and abaca, or it can be chopped 

and blended with hemp, kenaf ______(18)________  jute. 

15. a) automatic   b) autorotation    c) automotive d)  automorphism        e)none of these  

16. a) inlet    b) tensile   c) eyelet  d) tent-like    e) none of these 

17. a) acoustical b) imperceptible   c) faint    d) soft     e) none of these  

18. a) but    b) and    c) between   d) through       e) none of these  

SPOT THE ERROR  

Q19. a)Para-xylene is a particularly important  b) basic compound in a  production of PTA  c) which is a 

feedstock material for polyesters  d) such as polyester fibres and plastic bottles.  e) No error.  

Q20. a) New paradigms  b)  of knowledge can   c) create ripples that  d)  would clean up the 

earth.  e) No error  

Q21. Which of the following articles was abolished to make J & K at par with other Indian states?  

(a) 370  (b) 21  (c) 377   (d) 15   (e) none of these 
 
Q22. Which country will be hosting the T20 Cricket World cup in 2021, which has been cancelled for 2020?  

(a) Australia (b) England (c) South Africa  (d) India   (e) none of these 
 
Q23. Which of the following is celebrated as the International Yoga Day?  

(a) June 16th (b) May 30th (c) June 21st  (d) May 21st  (e) none of these 
 
Q24. ‘Louis Philippe’ is a brand having it’s origin in which of the given countries?  
(a) UK  (b) India  (c) USA   (d) France  (e) none of these 
 

Q25. Who is the current brand ambassador for ADIDAS India?  

(a) Manushi Chillar (b) Tiger Shroff  (c) Tapsee Pannu (d) Ranveer Singh (e) none of these 
 
Q26. At which location along LAC did recent India-China skirmish took place in June 2020, with loss of lives?  

(a) Doklam (b) Ladakh (c) Galwan valley  (d) Arunanchal Pradesh (e) none of these 
 
Q27. ‘We Bring The World To You’ is the tag line of? 
(a) DTDC (b) Zomato      (c) Amazon  (d) Press Trust of India (e) None of these 
  
Q28. At what rate percent on simple interest will Rs.750 amount to Rs.900 in 5 years? 

(a) 5%  (b) 3 1/2% (c)  4%  (d)  5 1/2 % (e) none of these 
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Q29. The average age of 30 boys in a class is 15 years. If we include the age of two teachers the average age 
increases by 1. Find the sum of ages of the two teachers. 

(a)  55 years (b) 58 years (c) 62 years (d)  64 years (e) none of these 
 
Q30. The average age of the committee of 10 members is 40 years. A member of age 52 retires and a new 
member of age 38 takes his place. What is the average age of the present committee? 

(a)  38,6 years (b) 33.5 years (c) 35.5 years (d)  37.5 years (e) none of these 
Q31.  Four years ago, the average age of A and B was 20 years. If today average age of A, B and C is 25 years, 
what will be age of C after 7 years? 

(a)  32 years (b) 34 years (c) 36 years (d)  38 years (e) none of these 
Q34.  The LCM of two numbers is 7700, and their HCF is 11. If one of these numbers is 275, what is the other 
number? 

(a)  279  (b) 283  (c) 308  (d) 318 (e) none of these 
Q35. Four years ago a man was 6 times as old as his son. After 16 years he will be twice as old as his son. What 
is the present age of man and his son? 

(a)  34 & 9 (b) 33 & 7 (c) 35 &5 (d) 36 & 6  (e) none of these 
Q36.  The ratio of the ages of Minu and Meera is 4:2. If the sum of their ages is 6 years, find the ratio of their 
ages after 8 years. 

(a)  8 : 6  (b) 6 : 5  (c) 6 : 4  (d)  7 : 5  (e) none of these 
Q37.  The ratio of the ages of Seeta and Geeta is 2:7. After 6 years, the ratio of their ages will be 1:2. What is the 
difference in their present ages? 

(a)  8 years (b) 9 years (c) 10 years (d)  11 years (e) none of these 
COMPREHENSION:  
Directions (Q.38 to 42) Read the following passage to answer the given questions based on it.  
 
One of India’s greatest footballers, this striker of the Indian team scored 65 goals in 84 international matches, 

captained the national team and was the country’s top coach. 

Born on June 23, 1936 in Mainaguri, located in the outskirts of Jalpaiguri, West Bengal, to Prabhat and Bina 
Banerjee. Pradeep Kumar Banerjee was enrolled first at the Jalpaiguri Zilla School.  

In 1951, the 15-year-old began playing football officially in the right wing to represent Bihar in the Santosh 
Trophy, the nation’s biggest annual inter-state soccer tournament. By 1954, Banerjee joined Aryan Football Club, 
one of Asia’s oldest soccer clubs. Thereafter, he played for the Eastern Railway. 

In 1956, Banerjee also made it to the Olympics in Melbourne, Australia. In the quarterfinals, Banerjee played a 
key role in India’s 4-2 win over the team from the Olympic host. 

In the Asian Games, Banerjee represented India thrice — in Tokyo (1958), Jakarta (1962) and Bangkok (1966). 
In 1962, during the Jakarta Games, India suffered a 0-2 defeat at the hands of South Korea. 

In the 1960 Rome Olympics, Banerjee captained the Indian team and scored in the 1-1 draw against France. He 
represented India in the Merdeka Cup thrice — in 1964 and 1965, when India won the bronze medal, as well as 
in 1959 when it won the silver. 

Frequent injuries hampered his career and finally in 1967, he decided to hang up his soccer boots. 

Banerjee began coaching the East Bengal Club. Later, under his guidance, Mohan Bagan won the historic the 
IFA Shield, Rover Cup and Durand Cup in just one season. In 1972, he assumed charge as the coach of the 
national team. Banerjee’s first match as the coach was a qualifier for the Munich Olympics. He continued to 
coach the national football team till 1986.Thereafter, from 1991 to 1997, he was the technical director of the Tata 
Football Academy in Jamshedpur. In 1999, Banerjee was again hired for the post of the technical director of the 
Indian football team. 

Awards and recognition galore, including the FIFA Order of Merit (highest honour by FIFA) in 2004 and the 
Padma Shri Award in 1990, deservedly came Banerjee’s  way. He was also named India’s Footballer of the 20th 
Century by the International Federation of Football History & Statistics. 

On March 20, 2020, Banerjee, after a prolonged illness, passed away in Kolkata. He is survived by his younger 
brother Prasun Banerjee and his daughters Purna and Paula, who are academicians. 
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Q38.  The most suitable caption for the passage is? 
a) A lost star    b) Football glory  c) Dazzling star of Indian football  d) Highest honour     e)none of these  
Q39.In the Asian Games, Banerjee represented India  — in Tokyo (1958), Jakarta (1962) and Bangkok (1966).? 
a) Toronto (1958), Jakarta (1962) and Bangkok (1966)   b) Tokyo (1958), Jakarta (1962) and Bhutan  
(1966)   c) Tokyo (1958), Japan (1962) and Bangkok (1966)  d) Tokyo (1958), Jakarta (1962) 
and Bangkok (1966)      e) none of these  
Q40.  The full form of IFFHS is? 
a) International Foundation  of Football History & Sciences          b) International Foundation of Football History & 
Statistics.         c) Indian  Foundation of Football History & Statistics.  d) International Federation of 
Football History & Statistics.    e) none of these  
Q41. Which out the following is not true? 
a) Pradeep Kumar Banerjee received Padma Shri Award in 1990                    b) He represented India in the 
Merdeka Cup thrice                    c)   In Asian Games, he  represented India thrice  d) He was the 
technical director of the Tata Football Academy in Jamshedpur        e) none of these   
Q42.  What is the tone of the passage? 
a) Nostalgic b) Informative   c) Sarcastic                    d) Critical     e) None of these  

Q43. If FRIEND is coded as HUMJTK, how is CANDLE written in that code? 

a) EDRIRL b) DCQHQK  c) ESJFME                    d) DEQJQM     e) None of these  

Q44. If Pour is written as 4156 Sware is written as 78269  Clear is written as 3@926 

Then what is the code for PEARL= ? 

a) 429@6 b) 4962@  c) 4692@                    d) 4926@   e) None of these  

Q45. In a certain code language, (A) ‘pit na som’ means ‘bring me water’  (B) ‘na jo tod’ 

means ‘water is life’ (C) ‘tub od pit’ means 'give me toy’       (D) ‘jo lin kot’ means ‘life and death’ 

Which of the following represents 'is' in that language? 
a) jo  b) na   c) tod                     d) lin  e) none of these 

Q46. A man is facing north-west. He turns 90°90° in the clockwise direction, then 180°180° in the 

anticlockwise direction and then another 90o90o in the same direction. Which direction is he facing now? 

a) South  b) South-west  c) South-east  d) East  e) none of these 

Q47. Rahul told Anand, 'Yesterday I defeated the only brother of the daughter of my grandmother.' Whom did 

Rahul defeat  

a) Son  b) Father  c) Brother  d) Father-in-law   e) none of these 

Q48. In the following question, select the missing number from the given series.  567, 189, 63, ?, 7 

 a) 21  b) 30   c) 29   d) 31   e) none of these 

Q49. Karthick is 6 ranks ahead of Subash who ranks sixteenth in a class of 42.What is Karthick’s rank from 

the last? 

 a) 32  b) 31   c) 30   d) 33   e) none of these 

Q50. Rasik walked 20 m towards north. Then he turned right and walks 30 m. Then he turns right and walks 35 

m. Then he turns left and walks 15 m. Finally he turns left and walks 15 m. In which direction and how many 

metres is he from the starting position? 

 a) 15m West  b) 30m East  c) 30m West d) 45m East   e) none of these 


